1 2 3 I 4 5 I 6 I 7 I 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE ZQJ 11/18/2014 N CJJ 11/18/2014
ITEM PART NAME Qty NOTES B CJJ 11/18/2014 v CJJ 11/18/2014
—n f i w— ! PLASTIC HOOD 2 SEE P/N C ' CJJ 11/18/2014 a2 CJJ 11/18/2014
T A o , [21] Lone BoLT 2 | $4-40 D CJJ 11/18/2014 N CJJ 11/18/2014
~ i ~ 2.2| SHORT BOLT 2 #4-40 E CJJ 11/18/2014 .
(= 3 NUT 2 M3 F |ADD P/N CODE ZQJ 11/18/2014 a2
4 LONG SCREW 2 M3
NOTES:
| 24.99 | 5 SMALL WASHER 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
70| METAL WASHER | 2 | M3 LL10SS-1- @2 x X X X X = X )
30.8 7|7.2| PLASTIC—1 WASHER 2 ABS Mwo%mmzoﬁngm ®
12.0 7.3| PLASTIC—2 WASHER 2 ABS B: Similar ABS
1 Washer type
1: Metal
2: Plastic—1(Lock type)
3: Plastic—2(Screw type)
Bolt type
L: Long
S: Short
Packing type
1: Mix packing
© O 2: Separation packing
N. 3 Q: Full packing
Cover Material
P: Plastic(ABS)
Cover Color
A: Gray
B: Black
Vi lvory
Position
2 08: 9pin
AN
§ N UNc#4—40 M3 3
LY o wy = S
" 7.l 5.40
Short BOLT NUT  t=2.3mm
M2 11.8 4 5
. , Q, vy
, » 10.0 - N
, f
2 11.0 — MW “ §
4-40 UNC 8l g @ , 162 S
g 9 s Metal Plastic—1 Plostic—2 LONG SCREW
s S _ - _ R R - - SMALL WASHER
@ AIE - e T GENERAL TOLERANCE] ANGLE TOLERANCE | PROJECTION @\m ._._._._um_ D-SUB 9pin Plastic Hoods
4. 180 ree
s ) 7 X.  £0.60 x, x5 |UNITS mm Deg
135 3 X  +0.38 X %3 SHEET SIZE A4 [SERES ]| LL1055-1
305 XX +0.25 XX +2° \/
z CRAVIG TYPE[COSTONER REBSHRTARAR
Long BOLT SCALE 1:1[SHEET |1 OF 1 CIXI LANLING ELECTRONICS CO., LTD.
EEw F it | *
DRAWING NO. Tel: 86-574-63619036 Fex: 86-574-63517070
1 _ 2 3 _ 4 _ 5 6 _ 7 _ 3




